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sollin.cpp

#include "mpi.h"
#include <iostream>
#include <stdio.h>
#include <stdlib.h>
#include <time.h>

#define SIZE 10 //

int alive[SIZE];

int hairetu[SIZE] [SIZE];//00
int changex[SIZE] [SIZE];

int changey[SIZE] [SIZE];

int answer [SIZE] [SIZE];//D 0O
int parent[SIZE];//C

int min[SIZE/2];

int box = 0;

int arank;

int numberprocess;//

double begin;

double last;

MPI_Status status;

int size = sizeof parent/sizeof parent[0];

//logn 00000000
int logn(int n){
int i = 0;
while(n>1){
n=n/2;
it++;

}

return i;
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//000000000000000000000
void 8104
for(int i=0; i<size; i++){
bool check=false;
int min=998;
if (alive[il==1){
for(int j=0; j<size;j++){
if (alive[j]==1 && min > hairetul[i] [j1){

min=hairetuli] [j];

box=j;
check=true;
}
¥
if (check){
answer [changex[i] [box]] [changey [i] [box]]++;
parent [i]= box;
}

//000000000000000000000000
void PS1(int i){
bool check=false;
int min=998;
MPI_Bcast(parent,size,MPI_INT,0,MPI_COMM_WORLD) ;
MPI_Bcast(alive,size,MPI_INT,0,MPI_COMM_WORLD) ;
MPI_Bcast (hairetu,size*size,MPI_INT,0,MPI_COMM_WORLD) ;
MPI_Bcast (changex,size*size,MPI_INT,0,MPI_COMM_WORLD) ;
MPI_Bcast(changey,size*size,MPI_INT,0,MPI_COMM_WORLD) ;
MPI_Bcast (answer,size*size,MPI_INT,0,MPI_COMM_WORLD) ;
if (arank==0){
if (alive[arank]==1){
for(int j=0;j<size;j++){
if(alive[jl==1 && min>hairetularank] [j1){
min=hairetu[arank] [j];
box=j;

check=true;

14



¥
if (check){
answer [changex [arank] [box]] [changey [arank] [box]]++;

parent [arank]= box;

}

for(int i=1;i<numberprocess;i++){
MPI_Recv(&parent[i] ,1,MPI_INT,i,i,MPI_COMM_WORLD,&status);
MPI_Recv(&alive[i],1,MPI_INT,i,i+numberprocess,MPI_COMM_WORLD,&status) ;
MPI_Recv(hairetul[i] ,size,MPI_INT,1i,i+(numberprocess*2) ,MPI_COMM_WORLD,&status);
MPI_Recv(changex[i],size,MPI_INT,i,i+(numberprocess*3) ,MPI_COMM_WORLD,&status);
MPI_Recv(changey[i] ,size,MPI_INT,1i,i+(numberprocess*4) ,MPI_COMM_WORLD,&status);
MPI_Recv(answer[i],size,MPI_INT,i,i+(numberprocess*5) ,MPI_COMM_WORLD,&status);

}

Yelseq{

if (alive[arank]==1){

for(int j=0;j<size;j++){
if (alive[j]==1 && min>hairetularank] [j]){

min=hairetularank] [j];

box=j;
check=true;
}
}
if (check) {
answer [changex [arank] [box]] [changey [arank] [box]]++;
parent [arank]= box;
}

}

MPI_Send(&parent [arank],1,MPI_INT,0,arank,MPI_COMM_WORLD) ;
MPI_Send(&alive[arank],1,MPI_INT,0,arank+numberprocess,MPI_COMM_WORLD) ;
MPI_Send(hairetularank],size,MPI_INT,O0,arank+(numberprocess*2) ,MPI_COMM_WORLD) ;
MPI_Send(changex[arank],size,MPI_INT,O0,arank+(numberprocess*3) ,MPI_COMM_WORLD) ;
MPI_Send(changey[arank] ,size,MPI_INT,0,arank+(numberprocess*4) ,MPI_COMM_WORLD) ;
MPI_Send(answer [arank] ,size,MPI_INT,0,arank+(numberprocess#*5) ,MPI_COMM_WORLD) ;

(/0000000000000 00O0O0OOoOOoDOoOODOoO0
void PPJ(){
MPI_Bcast(parent,size,MPI_INT,0,MPI_COMM_WORLD) ;

15



if (arank==parent [parent [arank]] && arank<parent[arank]){
parent [arank] = arank;
}
if (arank!=0){
MPI_Send(&parent [arank],1,MPI_INT,0,arank,MPI_COMM_WORLD) ;
}
if (arank == 0){
for(int i=1;i < size;i++){

MPI_Recv(&parent[i] ,1,MPI_INT,i,i,MPI_COMM_WORLD,&status);

}
MPI_Bcast(parent,size,MPI_INT,0,MPI_COMM_WORLD) ;
for(int j=0;j <logn(size);j++){
if (arank == 0){
printf("0000 %d %d %d %d %d\n",parent[0] ,parent[1],parent[2],parent[3],parent[4]);
parent [arank] =parent [parent [arank]] ;
for(int i=1;i < size;i++){
MPI_Recv(&parent[il,1,MPI_INT,i,i,MPI_COMM_WORLD,&status);
}
printf ("Recvl %d %d %d %d %d\n\n",parent[0],parent[1],parent[2],parent[3],parent[4]);
}else {
parent [arank] =parent [parent [arank]] ;

MPI_Send(&parent [arank],1,MPI_INT,0,arank,MPI_COMM_WORLD) ;

//00000000000000
void PJO{
for(int j=0;j <logn(size);j++){
for(int i = 0;i < size;i++){

parent [i]=parent [parent [i]];

void S3(){
for(int i = 0;i < size;i++){

if (i == parent[parent[i]]){

16



for(int j= 0;j <size;j++){

if(i == parent[j] && i !'= j){
999;
999;

hairetuli] [j]

hairetul[j] [i]

for(int count = O;count < size;count++){

if (hairetu[i] [count] >
hairetuli] [count]
hairetu[count] [i]
changex[i] [count]

changey [count] [i]

}

hairetu[j] [count] && hairetu[i] [count]

= hairetul[j] [count];

= hairetulcount] [j];

Js
:j;

for(int count =0;count < size;count++){

if (hairetul[i] [parent [count]] >

hairetul[i] [parent [count]] = hairetul[i] [count];

hairetu[parent [count]] [i] = hairetu[count] [i];

changey[i] [parent [count]]

changex [parent [count]] [i]

}
Yelse {

alive[i] = 0;

bool check(int x){
for(int 1 = 0; i < size ;i++){
for(int j = i ; j < size ;j++){
if (hairetuli] [j]1 == x){

return true;

}

return false;

//000000000000
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count;

count;

hairetul[i] [count] && hairetul[i] [parent[



void Graph(){
for(int i=0;i<SIZE;i++){

alivel[il=1;

parent [1]=(SIZE+i+1);

for(int j=0;j<SIZE;j++){
answer [1] [j]1=0;
hairetuli] [j]1=0;
changex [i] [j1=1;
changey[1] [j1=j];

}
srand (time (NULL)) ;
for(int i=0;i<size;i++){
for(int j=i;j<size;j++){
if (i==j){
hairetul[i] [j1=999;
Yelseq
int x = (rand() % (sizex2))+1;
while(check(x)){
x = (rand() % (size*2))+1;
}
hairetuli] [j]

]
»

hairetul[j] [i]

I
o]

}
for(int i = 0; i < size ;i++){
for(int j = 0 ; j < size ;j++){
printf ("%3d ",hairetulil [j]);
}
printf("\n");

//0000000

int main(int argc,char **argv){
MPI::Init(argc,argv);
MPI_Comm_size (MPI_COMM_WORLD,&numberprocess) ;
MPI_Comm_rank (MPI_COMM_WORLD,&arank) ;
begin = MPI_Wtime();
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if (arank == 0) GraphQ);
for(int i = 0;logn(size) > i ;i++){
PS1(arank) ;
PPJQ);
S30);
}
if (arank ==0){
for(int 1 = 0; i < size ;i++){
for(int j =0;j<size;j++){
printf("%2d ",answer[i][j1);
}
printf("\n");
}
last = MPI_Wtime();
printf ("O0O0000O%10.8f \n",last-begin);
}
MPI::Finalize();
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